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· Subtact by counting backwards:
65-3= __          28-8= ___          45-2= ___        85-5=___       32-6=___       55-5=__
· Find the difference:
 T    O                     T    O               T      O             T     O           T     O
  3     8                      4     7               2       9              1      9            6      4
-2     7                   -   3    5          -   1        8            - 1      5        -  3       2
         _____                   ______               ______             _____           ______
· Fill in the blanks:
35+5= 40: 40-5= _______                                                38+4=40: 40-4= _____
76+4=60: 60-4= _______                                                 52+8=60: 60-8= _____
19+3=21: 21-3= _______                                                 56+7= 63: 63-7= _____
· Subtract:
T     O	            T      O                T      O                  T      O
6      2                       8       2                 3      7                   6        5
4       6                   -  2       7            -    1      9             -     3        8 
_____                       ______                _____                  _______
· Problem Sums:
1. There are 346 students in a school. 232 students took part in a function. How many students did not take part in the function?
Sol.




2. Johny has 65 marbles.  He gave 23 marbles to Ria. How many marbles are left with Johny?
Sol.




3. A bus carried 60 passengers. At a bus stop 45 passengers got down. How many passengers were left?
 Sol.



· Fill in the blanks:
9×9= ___   2×5= ___    3×2= ____    9×4=____    11×8=  ___    12×7=____  10×5=____
· Solve the following:
Double of 4 is _______          Double of 7 is ______      Double of 9 is _____
Double of 5 is _______          Double of 2 is ______     Double of 8 is _____
· Complete the table:
	  ×
	 1
	2
	3
	4
	5
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	7
	8
	9
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· Fill in the blanks:
3+3+3+3+3=    ________   ×  ______= _______
8+8+8= ______× ______ = ________
6+6+6+6+6+6= _____× _____= _______
· Multiply:
T     O                     T    O             T     O         T     O           T       O
3       2                     2     4              3      3          4      2            6       0
×       2                    ×      1             ×      3          ×      2            ×       4                 
_____                    ______            _____          ______           ______

· Problem Sums:
1.There are 53 candies in one packet.How many candies are there in 2 packets?
Sol:


[bookmark: _GoBack]2.A  box contains 25 tea packets.How many packets are there in 8 such boxes?
Sol:




3.There are 7 monkeys on a tree.How many monkeys wil be there on 12 trees?
Sol: 
